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Practice - Solving Quadratics
Name

April 02, 2015

pp 652-659

Date Period

Solve the equations below. Round solutions to the nearest hundredth, if necessary.

State which method you used to solve.

1. x*+5x+6=0

3. (x-5)"=100

L~ 5)7’/ iob = O

4. 0=x*-4

9. Given y=2x"-6x-8, find the following information below.

a. Line of symmetry:

b. Min/Max vertex:

c. Solution(s):

d. Graph the quadratic.

e. Domain: Range:

5 x(x+5)=y

6. x>—5x=0

8. —3.2¢ —x+10=y
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Tutoring AM Tutoring | © AM Tuforing
U Qring Unit 8 Notebook

Simulation Check Due - last call

WED SCHO

ing | 2 AM Tutorin .
#w 54-55 DUE M TU’foring AM,{EU%&'”Q Grades Turned in 9AM

Unif 9 Test Extra Credit Due | Corrections due by Quiz
HW 56 Due 9AM

Notebook Check | WED SCHOOL | Bathroom Passes Dwe | HW 57 Duye

RED - 5th Six Weeks BLUE - G6th Six Weeks

If you want to improve your grade, you will need 0 complete fest corrections or make up &

L8| Turn in any missing assignments by the listed date. Remember, if you are not eligible for fest

¢ corrections, you must first atfend a Wednesday school and have the teacher sign the
corrections form. Please watch the videos before coming in for help.

Extra Credit opportunities at hitp://mskmathrhsweebly.com
- Project (baseball cards, mathematician pamphlet, ete) (QZ)

- 8pecial Products Video Notes (HW)

- Quadratic Formula Video Creation (QZ)

- Mixed STAAR Review questions (HW)
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Algebra 1 - Applications of Quadratics E Table # i

i Person A: !

2. A softball league has ¢tteams and each team plays all the other E Person B: i
teams in the league twice. The total number of games played, g, ' Person C: !

is shown by g = £ —t. If the Lady Cats softball league plays a E Person D: i

total of 72 games, how many teams are in the league?

Person A: Draw or label a picture of this situation.

Person B initials:

Person B: Write the Formula(s) that you need.

Person C initials:

Person C: Plug in what you know.

Person D initials:

Person D: Get everything on one side of the equation (standard form)

Person A initials:

Person A: Solve. What method did you use?

Person B initials:

Person B: Check reasonableness of solution.

EVERYONE initials:
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Algebra 1 - Applications of Quadratics : Table # E
+ Person A: '

3. The length of a rectangle is 7 meters less than twice the ' Person B: !
width. Find the dimensions if the area is 60 square meters. : Person C: i

' Person D: ,

Person A: Draw or label a picture of this situation.

Person B initials:

Person B: Write the Formula(s) that you need.

Person C initials:

Person C: Plug in what you know.

Person D initials:

" Person D: Get everything on one side of the equation (standard form})

Person A initials:

" Person A: Solve. What method did you use?

Person B initials:

Person B: Check reasonableness of solution.

EVERYONE initials:
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Algebra 1 - Applications of Quadratics

: Table # '

4. Suppose a person is riding in a hot-air balloon, 144 feet above the : Person A: i
ground. He drops an apple. The height of the apple above the E Person B: i
ground is given by the formula 4 = -16¢2 + 144 , where /s height in | Person C: |
feet and fis time in seconds. How long does it take the apple to hit E Person D: i
the ground? e '

Person A: Draw or label a picture of this situation.

Person B initials:

Person B: Write the Formula(s) that you need.

Person C initials:

Person C: Plug in what you know.

Person D initials:

Person D: Get everything on one side of the equation (standard form)

Person A initials:

Person A: Solve. What method did you use?

Person B initials:

Person B: Check reasonableness of solution.

EVERYONE initials:
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Algebra 1 - Applications of Quadratics I e = aaSenBa=aaS=eRSeRR==aS9eE A==eS 2

5. The volume, V, of a cylinder is given by the formula V¥ = 724, where ' Person A:
ris the radius of the cylinder and /1is the height. A cylinder with i Person B:
height of 10 ft has a volume of 140 ft. To the nearest tenth of a ! Person C:
foot, what is the radius of the cylinder? i Person D:

Person A: Draw or label a picture of this situation.

Person B initials:

Person B: Write the Formula(s) that you need.

Person C initials:

Person C: Plug in what you know.

Person D initials:

Person D: Get everything on one side of the equation (standard form)

Person A initials:

Person A: Solve. What method did you use?

Person B initials:

Person B: Check reasonableness of solution.

EVERYONE initials:
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Algebra I - Unit 9: Topic 4 — Applications of Quadratics
Practice — Applications of Quadratics pp 622-641

Name Date

Period

1. An apple drops off the apple tree from a height of 8 feet. How long does it take to reach the ground? Use the
function f(t] =—16f* + 8 where tis the time in seconds from when the apple was dropped, to find the answer.

A 0.5 seconds
B 0.71 seconds
C 1 second

D  2.23 seconds

Write an equation for each, then solve.

2. The length of a photograph is 1 cm less than twice the width. The area is 45 cm®. Find the dimensions of the
photograph.

3. [If the area of a rectangular garden is represented by the equation 2w + w = 36 where wis the width of the
garden. What is the width of the garden in meters?

4. The length of a rectangle is twice the width. The area is 50 square inches. Find the dimensions of the rectangle.

Son Thesroduct 25 twa conesdzutive svasintegers is 168. Find the integers.
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Algebra I - Unit 9: Topic 4 — Applications of Quadratics
6. A garden measuring 12 meters by 16 meters is to have a pedestrian pathway installed all around it, increasing the
total area to 285 square meters. Write an equation in standard form that could be used to determine the width of

the pathway. {Do not solve.t
X

12 Y

7-8. Graph each quadratic equation below, then fill in the information.

7. Graph the equation = x> —2x-3. 8. Graph the equation y -9 = x*-6x

PR T ")

S S S R I3

L TR T ")

P S

Vertex:
Maximum or Minimum?

Concave Up or Concave Down?

Vertex:
Maximum or Minimum?
Concave Up or Concave Down?

Solution(s): Solution(s):
Domain: Domain:
Range: Range:
9. The circles below show a pattern.

Stage 1

Stage 2 OO

Stage 3 (ONONCRONONO

Stage 4 ONOLONONONOLAONOLONOION0),

Which expression can be used to determine the number of circles at stage n?

n-1
2n-1
n-1

n-—n
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1. Plug in O for f(1). Then solve using either the calculator or square
root method.

2. Draw a picture! Your equation should be w(2w—-1)=45. Make sure you
distribute ond move the 45 over before solving. Remember: There are
no negative widthsl

3. Move the 36 over..then solvel

4. Again, draw a picturel your equation should be w(2w) = 50. Use the
square root method!

5 OMIT

6. You are not solving this equation. If the width of the path measures
x all the way around, then the new width would be (2x + 12) ond the
new length will be (2x + 16). Area = length times width, so use your
"window box” to multiply!

7 & 8 Moke sure the equation says y=, then use your blue book!

9. Count the number of circles in each stage. Then try fo plug in stage
4 (n=4) to each answer choice to see which equation gives you the
correct number of circles. HINT: the equation should be quadratic!
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